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Good Luck
Question 1:
* A random variable X has a mean [image: image2.png]


  and a standard deviation  [image: image4.png]


  . Then            
1- E(3X+4)=

(a) 24                 (b) 14                (c) 22                      (d) 36                    (e) none of these
2- Var (3X+5)=

(a) 36                 (b) 18                (c) 41                      (d) 22                    (e) none of these
___________________________________________________________________________

* If the probability mass function of the random variable X is given by

	X
	0
	1
	2
	3
	4

	f(x)
	0.41
	0.37
	0.16
	0.05
	0.01


Then

3- P(X<1) =

(a) 0.16                   (b) 0.78               (c) 0.41                   (d) 0.21                   (e) none of these
4- P(X[image: image6.png]


) =

(a) 0.06                    (b) 0.78               (c) 0.21                   (d) 0.22                    (e) none of these
5- P (0<X<4) =

(a) 0.01                    (b) 0.99               (c) 1                        (d) 0.58                    (e) none of these
6- F(3)=

(a) 0.99                    (b) 0.06               (c) 0.05                   (d) 0.94                    (e) none of these
7- The expected value of X is

(a) 0.8456                (b) 1.62               (c) 0.88                   (d) 0.16                    (e) none of these
8- The variance of (3X-4) is

(a) 0.8456                (b) 0.88               (c) 2.5368               (d) 7.6104                (e) none of these
Question 2:
9- How many four – digit number can be formed from the digits  1,2,3,4,5,6,7,8  if  the first two digits of each number is even (repetition is not allowed)

الآحاد والعشرات تكون أعداد زوجية بدون تكرار)
(a) 504                   (b) 672               (c) 240                   (d) 360                   (e) none of these
10- A man wishing to buy new car and he has choices of 6 colors, 2 different engines(محركات)  

and 3 body styles (هيكل السيارة)   ,then the number of ways that he could select a car is
(a) 8640                  (b) 11               (c) 51840                   (d) 36                   (e) none of these
11-A coin is biased so that a head is three as likely to occur as a tail .If the coin tossed 3 times Then , the probability of getting three head is
(a) 0.75                  (b) 0.141           (c) 0.0156                 (d) 0.422              (e) none of these
___________________________________________________________________________

*In how many ways can 6 children be seated 

12- In a circle

(a) 120                     (b) 720               (c) 600                   (d) 12                   (e) none of these
13- In a row 

(a) 120                     (b) 720               (c) 600                   (d) 12                   (e) none of these
Question 3:
 *For two events A and B , if  P(B) = 0.6, P(A\B)= 0.3 and  P(A\BC) = 0.4, then

14- P(A[image: image7.png]


 B) =

(a) 0.9                (b) 0.2               (c) 0.18                 (d) 0.5                 (e) none of these
15- P(A[image: image8.png]


 BC) =

(a) 0.4                (b) 0.1              (c) 0.16                   (d) 0.2                (e) none of these
16-  A and B are 

(a)Independent                    (b) dependent               (c) disjoint           (d)none of these

_________________________________________________________________________

 * Question 4:
Suppose that the continuous random variable Y has the following probability density function is 

[image: image9.png]ORSFES




Then
17- P (0<Y<4)=

(a) 0.05                  (b) 0.625               (c) 0. 5                   (d) 0.0653               (e) none of these

18- P(Y=0.5)=

(a) 0.5625              (b) 1.5                   (c) 0                        (d) 0.5                    (e) none of these

19-F(y)=

(a) [image: image11.png]o 1



                  (b) [image: image13.png]ke



                 (c) [image: image15.png]y i1



                  (d) [image: image17.png]


                  (e) none of these
20- P (-1<Y[image: image19.png]


0.5) =
(a) 0.5                     (b) 1.5                  (c) 0.5625                (d) 0                      (e) none of these
21- The expected value of  E(3Y-1) is
(a) -1                (b) 1.5                  (c) 3                        (d) 0                    (e) none of these
__________________________________________________________________________

Question 5:
* Consider a continuous random variable Z with the following probability density function 

                                                     f(z)= [image: image21.png]Kz 0<Z<3



  
22- The value of K is

 (a) 0.33                 (b) 0.11                (c) 9                      (d) 3                    (e) none of these
 *A population of people is classified by the amount of fruit and vegetable (كمية الفواكه والخضار) eaten and the health status(الحالة الصحية)

	         Amounnt

status
	Few (F)
	Some(S)
	Many(M)
	Total



	Poor(P)
	64
	72
	16
	152

	Good(G)
	112
	168
	136
	416

	Excellent(E)
	24
	64
	144
	232

	Total
	200
	304
	296
	800


If one person is randomly chosen from the population

23- The probability that he has excellent health status is

(a) 0.29                  (b) 0.24            (c) 0.71                   (d) 0.03             (e) none of these
24- The probability that he has good health status and eats many fruits and vegetable is

(a) 0.17                  (b) 0.38            (c) 0.326                 (d) 0.136           (e) none of these
25- Knowing that  he has poor health status, then the probability that he eats many fruits and vegetable is

(a) 0.16                 (b) 0.38             (c) 0.105                 (d) 0.054           (e) none of these
End of question

